494 1" Commercial Brine Valve

Vaiae .é“ T; | 4—— V3189

V3151 — GIIIHHHHIIII

V3150 — P e

v3105 —P — Only one required

H4902 —p /
L]

H4904 ———p n

H4905-01 ——p =
H4911

H4903 > = szoos (4 required)
u4914

H4909
q —

d

H4901

ﬂ].r “U‘@

H4956 T

H4912
‘ <— H1036-33.5-01

A <4— H4624

H4626 5 ¢

H4910
H4921 ——>

H4918-01 —p (=11

(_\/4— H4955 ! :J

S

— Ce— u4954.I
~

1
1
1
1
1
1
1
1
1
H4950-60 —»:
1
1
1
1
1
1
1
1

ORDER NUMBERS:

JCP-PG-6-SO Nut 3/8 H4921 1" Socket Adapter
H1036-33.5-01 Float Rod H4950-60 Air Check with Riser
H4624 Float Rod Pin 60" length
H4626 Mounting Stud Nut H4951-01 Air Check Body
H4901 Body H4952 Air Check Basket
H4902 Cap H4954 Air Check Seat
H4903 O-Ring 226 H4955 Air Check Ball
H4904 Disk Retaining Block H4956 Diaphragm Backup Ring
H4905-01 Check Disk Asy S$2009 Screw #6 X 5/8 SS
H4909 Cam Lever Arm V3105 O-Ring 215
H4910 Diaphragm Retaining V3149 FTG 1 PVC Male NPT
Band Elbow
H4911 Diaphragm Seal V3150 Fitting Split Ring
H4912 Diaphragm Retainer V3151 Fitting Nut
H4914 Mounting Stud V3189 FTG 3/4&1 PVC
H4918-01 Float Rod Guide Asy Solvent Elbow
H4920 Float w/Lock 160
grams
Clack Corporation

Installation Guide

1. If an external flow control is
used, install on the inlet side of
the brine valve.

2. Use Teflon tape only on
threaded plastic connections.
Many liquid or paste pipe
sealing products contain
compounds that may cause
plastics to crack with time.

3. Position float. Hand tighten the
nut.

4. Place the float rod guide close
to the float (but not as to hinder
float operation), adjust the guide
to position the float so float rod
pin operates freely and tighten
securely.

5. Position the assembly
securely in the brine well
and check to see that
there is no interferencewith
thefloatoperation.

NOTE: When brine valve is used
as a safety float for timed brine
systems use refill rates up to

10 gpm. If used as a primary
shut off, use refill rates up to 5
gpm. Repeated float closures at
high refill rates can cause “water
hammer,” which may damage
the plumbing. This brine valve is
designed for salt brine only and
will fit inside a brine well that is 5”
diameter or larger.

Distributed by: Aqua Purification Systems, Inc. -

USA - Fax: 408-225-7974

E-mail: sales@aquapurification.com - www.aquapurification.com - www.birmfilter.com



494 1" Commercial Brine Valve

v3is1 ——p ﬂﬂm]umj

V3150 —— P
V3105 —p ——

E=s

H4902 —p /"
1]

H4904 ———p n

H4905-01 ———p .%

H4903 ———Pp ——
H4914

Only one required

H4911

k )

_________________________________

1

1

' r

1 1
1.050" Ri 1

: iser ——p <— H4952 !

(/_> <4— H4955 i E

CJe— H4954:E l

1
1
1
1
1
1
1
1
1
H4950-60 —»:
1
1
1
1
1
1
1
1

ORDER NUMBERS:

V3149 —————p o | w. va1se
—

$2009 (4 required)

H4909

/ <4— H4624

<¢— H1036-33.5-01

r=-— - JCP-PG-6-S0
H A/\/
n
h

1
1
1
1
1
1
1
| | <&— H4920
1
1
1
1
1
1
1
1

JCP-PG-6-SO Nut 3/8 H4921 1” Socket Adapter
H1036-33.5-01 Float Rod H4950-60 Air Check with Riser
H4624 Float Rod Pin 60" length
H4626 Mounting Stud Nut H4951-01 Air Check Body
H4901 Body H4952 Air Check Basket
H4902 Cap H4954 Air Check Seat
H4903 O-Ring 226 H4955 Air Check Ball
H4904 Disk Retaining Block H4956 Diaphragm Backup Ring
H4905-01 Check Disk Asy $2009 Screw #6 X 5/8 SS
H4909 Cam Lever Arm V3105 O-Ring 215
H4910 Diaphragm Retaining V3149 FTG 1 PVC Male NPT
Band Elbow
H4911 Diaphragm Seal V3150 Fitting Split Ring
H4912 Diaphragm Retainer V3151 Fitting Nut
H4914 Mounting Stud V3189 FTG 3/4&1 PVC
H4918-01 Float Rod Guide Asy Solvent Elbow
H4920 Float w/Lock 160
grams
Clack Corporation

www.clackcorp.com

Part No.: H4922
Updated 7,/17/2007

PHONE (608) 846-3010

Installation Guide

1. If an external flow control is
used, install on the inlet side of
the brine valve.

2. Use Teflon tape only on
threaded plastic connections.
Many liquid or paste pipe
sealing products contain
compounds that may cause
plastics to crack with time.

3. Position float. Hand tighten the
nut.

4. Place the float rod guide close
to the float (but not as to hinder
float operation), adjust the guide
to position the float so float rod
pin operates freely and tighten
securely.

5. Position the assembly
securely in the brine well
and check to see that
there is no interferencewith
thefloatoperation.

NOTE: When brine valve is used
as a safety float for timed brine
systems use refill rates up to

10 gpm. If used as a primary
shut off, use refill rates up to 5
gpm. Repeated float closures at
high refill rates can cause “water
hammer,” which may damage
the plumbing. This brine valve is
designed for salt brine only and
will fit inside a brine well that is 5”
diameter or larger.

= 4462 DURAFORM LANE ® WINDSOR, WISCONSIN 53598-9716 USA
FAX (608) 846-2586

SALES/CUSTOMER SERVICE FAX (800) 755-3010

U.S. Patent 7,243,669 and Foreign Patent Pending



